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CIELABUY triangle lightness t*

t* Yoc=Yw  nc=100,

t* ciELABu7 59 (YY) 259 (¥V,=18, Y,/100<Y<=Y, )
t*(3,6)=22,t* ,(18)=50,t*,(90)=103

t*00=102,79=2.5, 11,—1/2 5=0,40
%15=50,00 §=58 8,
t#3,6=22,19,t1,=50 oo\g 18

1
1Y =18

Yn=3,6 ! Yy=90

CIELABuU7
tristimulus value difference
YoemYw  nc=100,
t* ciELaBu7 59 (Y/Y) Y259 (V=18 Y,/100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] logY)

dY18—4 27 S, SP s application
dYz 6=1,62 VJ—J’i dY=4,27 range

'v,=18
Yn=3,6 1 Yy,=90

log (AY/Y) CIELABU7
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t* ciELaBu7 59 (YY) Y259 (V=18 Y,/100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) logl)

D

1
(dY/Yy=0,1248y=2.5, 11,—1/2 50,40
(dY/Y)g=0,2377 758,42 D=8,
(dY/Y}.5=0.4515 Y,=18, d\=4,27

1v7,=18

YN=36 ) Yw=90

CIELABuU7
tristimulus value contrast

C=(YIAY) Yo=Yw - nc=100

t* CiELABu7 =59 (Y/Y)) Y259 (Y=18, Y, J/100Y<=Y, o)
log(Y/dY)= - log[2,5/,/58)] + (1/2,5) log{/Y,)
- (1/2,5) log[2,5¢,/58)] + (1/2,5) logY)
t*,=50, dY,=4,27, Y, /dY.~% gt
log(Y/dY)=0,62, in="58_ u® ™

e

(Y/dY)y=8,00,y=2,5, 1§=1/2,5=0,40
(Y/dY)g=4,2Q S,=58,42 D,=-8, 42 application
(Y/dY} ¢=2,21 Y,=18, dY=4,27 range
_Yu=18
Ya=3,6  Y\y=90

CIELABUY relative triangle lightness t*/t*,

e, Yoc=Yw - nc=100,

tcieLagur 59 (YY) 259 (V=18 ¥,/100<Y<=Y, )
t(3,6)=22,t* ,(18)=50 t*,(90)=103

tgg/t* =2,05,y=2,5, 1x/—1/2 50,40
t*1g/t*,=1,00 §,=58,4: 42
t+3,¢t*,=0,44,14,=50 oo \g 18

log[t*/t* ]=0, m,=0,46

log(AY/AY,) CIELABUT relative
AYIAY tristimulus value difference
u Yoc=Yw nc=100,
tcieLasur 59 (Y/Y)25-9 (Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

dYeo/dY,=2,62,y=2,5, 14=1/2,5=0,40
dY;g/dY,=1,00 §,=58,42 D,=-8,42
dYs,¢dY,=0,37, Y,=18 dY=4,27

dYu/Yu=0,2377 .
o

et
Ya=3.6  Y\y=90
log [(AY/Y) 1 AYIY),] CIELABUT relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
tcieLasur 59 (YY) 259 (V=18 Y, /100<Y<=Y, )
logl(dYM/(AY/Y),] = - (1/2,5) logl/Y,)

(dY/Ypo/(dY/Y)=0,52,y=2,5, 1§=1/2,5=0,40

(dY/Y)B/(dY/Y)i 1,00 sh =58,42 D,=—8,42

(@Y1 (dYIY)=189 ¥,=18 d\=4,27 aprTcaton
range

10g[(dY/YY(dY/Y),]=0, m= s

=50, dY,=4,27 d¥,/Y,;=0,2377 |
1y,=18

Yn=3.6  Yw=90

log [(Y/AY) 1 (YIAY),] CIELABUT relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

tcieLasur 59 (YY) 259 (V=18 Y, /100<Y<=Y, )
logl(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,)

(Y/dY)yo/(Y/dY)=1,90,y=2,5, 1=1/2,5=0,40
(Y/dYYg/(Y/dY)=1,00 58,42 D=—8,42
(YIdYYd/(Y/dY)=0,52 Y,=18 dY=4,27

log[(Y/dY)(Y/dY) =0, m =5,3° __w
ol
..

application
range
Y,=18
VNE3601 Y =90 T,

CIELABU? triangle lightness T*
—L* =

T* Y=L w nc™

T*cieLagur =59 (Y/Y)25-9  (Y,=18, ¥,/100Y<=Y,o)
T4 (3,6)=22,T* ,(18)=50,T* (90)=103

=102,79y=2,5, 14=1/2,5=0,40
T*18—50 00 $=58,42 D,=-8,42
T*3,22,19,1%,=50,00 \=18

1
1Y =18

MN=3,671 Yy =00 T

BEX71-1A

logAY) CIELABu7

AY tristimulus value difference
Yoc=L*w - nc=100,

T*CieLasur =59 (Y/Y)25-9  (Y,=18, Y,/100Y<=Y,o)

log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] logY)

u=50, dY,=4,27, dY,/Y,,=0, 2377

-
.

dYo=11,23,y=2 F -r1/2 5=0,40
dY1g=4,27, S=" D=-8,42 1 application
dY; 61,62 %=18, d‘(, 4,27 1 range
'v,=18
Ya=3,6 1 Yy=90

BEX71-3A

log (AY/Y) CIELABU7

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
T*CieLasur =59 (Y/Y)V25-9  (Y,=18, Y,/100Y<=Y,0)
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2.,5) log{)

- application
~ .~ range

. 2
(dY/Yy=0,1248y=2,5, 1y=1/2,5-0,40
(dY/Y)g=0,2377 §,=58,42 D,=—8,42
(dY/Y},¢=0,4515 Y,=18, d\=4,2¢¥

]

Yn=3,6 , Yw=90

BEX71-5A

log (Y/AY) CIELABU7

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T*CieLasur =59 (Y/Y) 259 (Y,=18, Y,/100Y<=Y,0)
log(Y/dY)= - log[2,5(r,,/58)] + (1/2,5) log¥/Y,)
— (1/2,5) log[2,5¢,/58)] + (1/2,5) logy)

T*,=50, dY,=4,27, Y,/dY,=4
log(Y/dY)=0,62 m,=0.25__

(Y/dY)y=8,00,y=2,5, 1§=1/2,5=0,40
(Y/dY)g=4,2Q S=58. 42 D=-8, 42 application
(Y/dY} 6=2,21 Y,=18, dY;=4,27 range
_Yu=18
Ya=3,6  Y\y=90

BEX71-7A

BEX71-7N

TUB-test chart BEX7; CIELABu,/t* & T* for Y/Y, with additional dataY,=(Y

THT* CIELABUY relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T* cieLapur =59 (YY) Y259 (¥,=18, ¥,/100<Y<=Y, )
T*N(3,6)=22,T*(18)=50,T*y/(90)=103

T*9o/T*,=2,05,y=2,5, 14=1/2,5=0,40

T*1¢T*,=1,00 §=58,42 D,=-8,42

T#3 ¢/ T%,=0,44,1%,=50,0Q Y;=18
log[T*/T*]=0, m,=0,46

L* =49, T* =50 —
application
range

1Y,=18
Yw=90

BEX71-2A

log(AY/AY,) CIELABUT relative
AYIAY tristimulus value difference
u Yoe=L*w - ¢ - n=100,
T* CieLagur =59 (Y/Y)25-9  (¥,=18, Y,/ 100<Y<=Y, o)
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

dYeo/dY,=2,62,y=2,5, 14=1/2,5=0,40
dY;g/dY,=1,00 §,=58,42 D,=-8,42
dYs,¢dY,=0,37, Y,=18 dY=4,27

27, dY,/Y,=0,2377 _ ¢
..

BEX71-4A
log [(AY/Y) | (AYIY),] CIELABUT relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* cieLagur =59 (YY) Y259 (¥,=18, ¥,/100<Y<=Y, )
log[(dYM/(dY/Y)y] = - (1/2,5) log¥/Y,)

(dY/Ypo/(dY/Y)=0,52,y=2,5, 1y=1/2,5=0,40

(dY/Y)g/(dY/Y)=1,00 sh 8,42 D,=—8,42

(dYIYyg/(dYIVI=189 V=18 dY= 2, 27app|ication
& range

log[(dY/YY(dY/Y),]=0, m,=-0,39 T
T#,=50, dY,=4,27, dY,/Y,=0,2377 !
1 =18 0
YR=3.67 =90 T

BEX71-6A
log [(Y/AY) I (YIAY),] CIELABUT relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T*cieLagu7 T59 (YY) Y259 (Y,=18, ¥,d/100<Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/2,5) log¥//Y,)

(Y/dYbOI(Y/dY), L 90 rz,s 1xr1/2 50,40
(Y/dYYg/(Y/dY)= 42 D,=-8,42
(YIdYY J(YIdY o 52 Yu 18, d\=4,27

log[(Y/dY)(Y/dY),]=0, m,=0,39

T*,=50, dY,=4,27, Y, /s 1
= 1 application
1 range

1y,=18
NNE3601 Ya =90 T

BEX71-8A
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